NEPTUN [I.ZH II. ZH FELEVES EREDENY

Lo| || iv. 3 % Lo m|nejiv. 3 % ATLAG% | Erdemjegyl uv
ABFUBF | 5,0 |5,0(5,0(2,0] 17,0 85,0 3,5 |4,0]3,0[20| 125 62,5 73,8 kozepes(3)
ABKXON | 2,5 [4,0]13,5(/2,0] 12,0 60,0 4,0 (2,5(1,5]0,0 8,0 40,0 50,0 | elégséges(2)
ADATYA | 4,55,0(5,0(1,0] 155 77,5 50 [4,011,0]50| 15,0 75,0 76,3 jo(4)
ATI974 3,5(3,0[50([1,0] 125 62,5 3,0 11,5/3,5[0,0 8,0 40,0 51,3 | elégséges(2)
AVPNDU 0,0 0,0 0,0 0,0 0,0 elégtelen(1)
BFKVA9 | 4,5 |3,0/3,0(2,0] 12,5 62,5 3,5 |13,5|0,0(5,0 12 60,0 61,3 | elégséges(2)
Cc6MSL 0,0 0,0 0,0 0,0 0,0 elégtelen(1)
co4uaL | 3,0(2,0(50]2,0| 12,0 60,0 2,0 14,0]3,0[0,0 9,0 45,0 52,5 | elégséges(2)
DEOYGX | 3,0 |1,0]3,5[1,0 8,5 42,5 0,0 (0,0]0,5|0,0 0,5 2,5 22,5 elégtelen(1)
EyaQsVv | 2,0 |1,0]1,5[1,0 5,5 27,5 0,0 0,0 13,8 elégtelen(1)
F60E4AZ 2,0 |1,0(5,0[0,0 8,0 40,0 0,0 0,0 20,0 elégtelen(1)
GTzGeH | 3,0 [2,0/4,0|1,0| 10,0 50,0 3,0 |4,0]20]|1,5| 10,5 52,5 51,3 | elégséges(2)
HIE9R1 50 |5,0[4,0(3,0] 17,0 85,0 50 [1,5/2,0]|50| 13,5 67,5 76,3 jo(4)
IG7ZP4 0,0 |3,0]5,0([0,0 8,0 40,0 2,5 10,5|0,5[0,0 3,5 17,5 28,8 elégtelen(1)
IQ5BHH 0,0 0,0 0,0 0,0 0,00 elégtelen(1)
J391TQ 50 12,0(4,5(20] 135 67,5 2,5 |12,5(3,0[0,0 8,0 40,0 53,8 | elégséges(2)
JY6ZKU 2,510,5(3,5/40] 105 52,5 3,5 |3,5/4,0]|00[ 11,0 55,0 53,8 | elégséges(2)
LSLE4P 0,0 0,0 0,0 0,0 0,0 elégtelen(1)
LQRKES 50 [4,0]4,5(3,0| 165 82,5 3,0 |2,0]/3,5]|3,0] 11,5 57,5 70,0 kozepes(3)
05L8V7 3,5(2,5(50(20] 13,0 65,0 3,5 25]/1,0[4,0[ 11,0 55,0 60,0 | elégséges(2)
PNOVP5 | 5,0 |3,0/4,0(1,0 13,0 65,0 45 |50(5,0]2,0| 16,5 82,5 73,8 kozepes(3)
QJLZP5 0,0 0,0 0,0 0,0 0,0 elégtelen(1)
VBGDE2 | 5,0 |5,0(4,0(2,0] 16,0 80,0 45 |5,0(5,0]50| 19,5 97,5 88,8 jo(4)
WUBDDH 0,0 0,0 0,0 0,0 0,0 elégtelen(1)

3,6 29(4,2(1,7] 12,3 61,4 3,3 [2,9(24]20| 106 53,1 57,3 | elégséges(2)




